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Midterm (Cumulative) Review

Unit 4 Circle Segments and Volume

A 6

Solve for x. If necessary, round your answer to the nearest tenth.

) 2
. X=3 <) ¥=3.5

Find the volume of the sphere.

. A bowling ball has a
diameter of 8 inches. Find
its volume.

in
57 1n3
d) 1071.79 in3




10

Find the value of x. ‘

A.8
B.-2
(fD.S )

12

I3.

14

4. A farmer is building a new silo T9ft
for storing grain. He is comparing ¢
a silo with a cone top to a silo :
with a hemisphere top. :
Ao % |60 ft
a) Which silo has the larger % S E : 1
volume? P e :
Choose: i

| b) By hdw much &;)és tlﬁ; m\..-r-o.l.l.ime- of the iaxger silo exceed that of
the smaller silo?

Choose;
< 763.407 cubic ft, © 2290.222 cubic ft
< 3053.638 cubic ft. @ 5368.144 cubic ft.

.._C) Note: 1 bushel = 1.24446 cubic feet
N\Mof building a silo depends upon its holdmg cap
expresse&’ : shels These sﬂos fall mto the price of $2.21
- per bushel capacity: o-sih

Choose:
o $12.882.33
2 $28.469.95

mofe w1ll 1t cost to construct ﬂlﬁzﬁ‘ge; glo?

5 $1,687.13 \

d) How much,
Choose: '

-7 $1,403.83 5 $1,355.71

L



16 Use the figure to solve for x.
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1B Use the figure to solve for x. @ Yyt = X-0(x-1+%-9)
g4 o) = X=1(ax-1b)

A. 10 1l
G0 = Iy -llox =14y e
!, 1
02 09> ~304 +1 7 Y
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oz e =12 Xr= 3 )
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19.  Use the figure to solve for x. ( |
> ~)

.

Unit 5 Algebraic Connections to Geometry

1. Which eauation is graphed to the righte:

A X2+y2=8
2 —_
C. 9x2+9y2=5764
o AT TYE=000

S—— T

e
e,

2. Find the equation of a line tangent to the circle x2 + y2 =8 at the poi . 2).

~

X X
I+

4 - S —

5 e ~—
. %*"“.n
3 ~ Atwhat point(s) does the line x -y -2 = 0 interc : ))
A. (5, 3) & (-4, -6) ; & Al

. =4, O]

=< <




4, Find the center and the radius of x2 + y2 + 2x - 10y + 10 = 0.

A. center(1,-5);r=16 ’
B. center(1,-5);r=4 ; f”\
C_center - r=16
. center (-1, 5);r=4

r—L._

5. |nd an equation for a circle with center at (3, -3) & the point (3, 1) is on the circle. (X~ % + qur

R R ATE) [

6. What is the distance between the points (7, -3) and (-5, 6)

A 4 B. 9 C. 21

7. Aline passes through point A at (2, 3) ondgomi B at (4, 7). Which is the equation of BC if AB }Fff:—‘ Lle 5'°R+
4 “]*-—"V | f‘ &$| & . J:l 'LJ-\ B (W,-')
o ik <ol _ = !
7./y=—2x+5 Y- o - ;_,"B_ =_.1_x.|.5 3\;(_‘_ %y:zx+5
P "1,\ ?; - I
i o ’ == u--n -5 " o =
&2 L3 3% 3 =7
8. Which line is parallel to the line described by 2x + 3y = 62
A, 3x+2y=6 B. 3x— 2y=-6 C. 2x+3y=-6 D. 2x-3y=6
9. Which function's graph is NOT perpendicular to the line described by 4x -y =-2¢
1 1 3
A. y+;x:0 B. sx=10-2y D Y=gkt
10. Which equation describes a line perpendicular to y = 8x - 9 that passes through the point (9, -9)2
= 8x — = 8x— o pelli i 988
A. y=8x-81 C. y=8x-9 0. y= Smd =

11. Point P is on the line segment from point A(-11, 4) to point B(-1, -6) and divides the segment in the ratio 1 to 3.
=

Which could be the coordmcﬁes of P2 B 5(
" :
a6 X € I ) ('5’5J['6> /6

B. (-3,-4) 8 H
R

12. What is the area of the polygon formed by the points A(-4, 2), B(1, 2), C(1, -2}, and D(-4, -2)2

A. 18 units? B. 19 units? D. 30 units? (

13. What is the perimeter of the polygon formed by the points P(-4, 1), Q(2, 4), R(4, 0), S(-2, -3)¢

B. 18 units C. 9v5 units D. 20 units




14. What are the coordinates of the midpoints of BL with endpoints B(-7,-4) and L(2, 3)2

A (=311,

C. (-130) D. (-5,-1)

15. What type of quadrilateral do the points A(-3, 5), B(2. 7). C(2, 3), and D(-3, 1) form? Explain your reasoning.
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16. A signal from a radio transmitter can be received up to 175milies away. The following points represent locations of
houses near the fransmitter if the transmitter is at the origin. Which point is not within range of the transmitters

B. (90, 150)
D. (0, 125)

[8. A given circle has a radius of 6 and is centered at the origin. The line x = 3 infercepts the circle and forms a chord.
What is the length of the chord2 Round your answer to the nearest tenih.

Bl o Y S, 0
..-*- - 3{0 \ o o (4
A. 5.2 B, 3.0 X 4 ™

C. 40 C!T‘< ‘IO.D Q < 5 = g (8, 6.2)

,:! & e 2y} LB“’ “'S:- ?T;}

et

1% Three coordinate points of a parallelogram are (2,1),(4,4) and(7,4). Find the fourth vertex.

B. (27) C. (54) D. (57)

flq. What special type of quadrilateral has the vertices A(=2,1), B(2,-3), C(2,1), and D(-2,-3)2

A.  Rhombus
C. Rectangle

arallelogram



Unit 6 Probability

1. A box contains 4 green tiles, 8 white tiles, and 10 red tiles. Manuel will reach into the bag and select a tile without
looking. What is the probability that he will select either a green tile or a red tile? N

A 7111

: 1
C. 20/231
D. 10/121

J

2. If you have a deck of cards, what is the probability that you will draw a ¢ or a heart?2

A l7
B.4/13

D. 1/26

3. Use the following table to find the probability that a student has a cell phone and is frorh school B.

B. 0.41 > :
=TT Students who Students who do not Total
D.0.85 have a cell phone have a cell phone
School A 363 156 521
School B 408 71 479
Total 773 227 1000

4.In a game, discs are thrown into two circles from one side of the room. The results are shown below. Let Event A =
landing in Circle 1 and Event B = landing in Circle 2.

® Circel Circle2

Find the following probabilities:

2
é‘ - P(A) _%:_

y
/q d.P(A UB) 27/3 f.P(A UB)'

5. A bag contains 4 red marbles, 3 blue marbles, and 2 green marbles. What is the probability that Brandon reached
into the bag and picked a red marble if you know he did NOT pick a green marble?

2,

é_c. P{A M B)

Aa ]/8 i
B. 4/9

D.7/9 )



6.1n your class, 56% of the students get an allowance and 41% of the students who get an allowance also do
household chores. What is the probability that a student in your class does household chores given that the student
gets an allowance?

A. 67%
¥ 9%

. /3%
D.75%

7. Use the following table to calculate the probability that a randomly selected student has a cell phone given that
the student attends School B.

A.0.21 Students who Students who do not | -
’ : Total
B.0.41 have a cell phone | have a cell phone
C,0.62 School A 365 156 21
E_j-- 0.85 ) School B 408 71 479
Total 773 227 1000

8. Using the table below, answer the following questions:

Math | Science Englis History 7
Male | 46 2 13 25 |14
_Female | 12| 21 45 36 | 1Y

1981 3] 5% | ¢l layo

lEjWhot is the probability that a student likes math given they are a male?

¥/

(D b. What is the probability that a student is female given they like English or Science?

, c. What is the probability that a student is male given they do not like History?

9. A drawer contains 3 red socks, 5 white socks, and 7 blue socks. Without looking, you draw out a sock and then
draw out a second sock without returning the first one to the drawer. What is the probability that both socks are
blue?

As )

C.2/21
D. 49/225

10. An aquarium contains 3 female fish and é male fish. What is the probability of catching a male fish, then a female
fish, and then another male fish, if you put each fish back in the aquarium before catching another one?

A. 4/3
B. 5/3
<

@ 7



11. A bag contains 5 red marbles, 3 yellow marbles, and 2 blue marbles. Once a marble is drawn, it is not replaced.
‘What is the probability of drawing a blue marble on the first draw and a second blue marble on the next draw?

§..]/455> ' {f-\ |

D. 28/90

12. Which of the following events are independent given P(A), P(B), and P(A and B)?

A.P(A) =0.16; P(B) =0.24, P(A and B) =0.38

B.P(A) =0.08; P(B) =0.4, P[A and B) =0.12
C. PpA) = 0.25; P(B) =0.25, P(A and B) = 0.0625
(A) =0.3; P(B) = 0.15, P{A and B) = 0.45

13. A jar contains 4 white chips, 5 purple chips, and 1 black chip. Chips are selected randomly one at a time. Find
*he probability of the following:

N. P(purple and black); chip is not replaced /ﬁ)oc P(2 black chips); chip is replaced
s 1 i ke

Z/ To" 9 lo" |o
g(block and white); chip is not replaced Qd. P(white and orange); chip is replaced

N 4 4 . b=

lo® q / Jo 0=0
Ae. P(white, purple, and black); chip is replaced é_gf. P(3 whites); chip is not replaced
50 y 2 L X .Ba

o lo o lo ' 9°%



